
Answers:

Part 1:

1. c)
2. c)

3. c)

4. a)
5. d)

6. d)
7. b)

8. b)

9. c)
10.d)

11.d)
12.d)

13.a)

14.c)
15.a)

16.c)
17.d)

18.a)

19.c)
20.b)

Part 2:

1. a)

2. c)

3. b)
4. b)

5. a)
6. b)

7. a)

8. a)



9. c)

10.d)
11.c)

12.d)
13.d)

14.c)

15.a)
16.b)

17.a)
18.c)

19.a)

20.a)
21.b)

22.a)
23.b)

24.b)

25.d)
26.a)

27.d)

Part 3:

1. 1.1. 2௕యଽ௔వ1.2. ଷ௠భఴସ௣మ
2. 2.1. 52.2. ଵଶ
3. 3.1. ଶ(௫ାଶ)(௫ିଶ)(௫ାହ) ; ݔ ≠ 2, ݔ ≠ −5



3.2. ଺௫(௫ିଶ)(௫ାଷ)(௫ିହ) ; ݔ ≠ 2,−3, 5,−5
4. 4.1. ଵݔ = 3, ଶݔ = −14.2. ݔ = 0
5. 5.1. −∞ < ݔ < +∞
6. 6.1. 4 < ݔ < 10
7. 7.1. ݔ = 1
8. 8.1. ݔ > 4 ݎ݋ ݔ < −18.2. 0 < ݔ < ଵହ ݎ݋ 1 < ݔ < 5√5
9. 9.1. ߙଶ݊ܽݐ4
10.10.1.10.2.
11.11.1. ±గଷ + arcos±,݇ߨ2 ଵଷ + .11.2݊ߨ2 గଷ + .11.3݇ߨ గ௞ଶ
12.12.1. గ଺ + ݇ߨ2




